
MATHEMATICS ¼xf.kr½ 

SECONDARY 

1.Conduct a survey of 25 households from your locality/village, regarding number 

of person in family and family income.   (10 marks) 

S.No. of Family Number of persons in 

family 

Family annual income (in lacs) 

1   

2   

;   

25   

1- ifjokj esa O;fä;ksa dh la[;k vkSj ikfjokfjd vk; ds laca/k esa vius bykds/xkao ds 25 ?kjksa dk 

losZ{k.k djsaA 

ifjokj dh Ø-la ifjokj esa O;fä;ksa dh 

la[;k 

ifjokj dh okf"kZd vk; ¼yk[k esa½ 

1   

2   

;   

25   

a. Present the data related to family members in tabular form mentioning 

frequencies. 

ifjokj ds lnL;ksa ls lacaf/kr vkadM+ksa dh vko`fÙk;ksa dk mYys[k djrs gq, lkj.khc) :i esa   

çLrqr djsaA 

b. Calculate the average family size. How many families are above the average 

family size? 



ifjokj ds vkSlr vkdkj dh x.kuk djsa- fdrus ifjokj vkSlr ikfjokfjd vkdkj ls Åij gSa\ 

c. Draw a bar graph for the top 10 earning families. 

lcls vPNh dekbZ djus okys 10 ifjokjksa ds fy, ,d ckj xzkQ cuk,aA     

2.       (i) Construct a rectangle ABCD whose side AB = DC = 6 cm and 

AD =  BC = 2 cm. Find the measure of diagonals AC and DB.    (10 marks) 

          2.  ,d vk;r ABCD dh jpuk dhft, ftldh Hkqtk AB ¾ DC ¾ 6 lseh vkSj AD ¾ 

 BC ¾ 2 lseh gSA AC vkSj DB fod.kksZ dk eki Kkr dhft,A 

(ii) Construct a trapezium EFGH at a distance of 1 cm from both the vertices 

 of the side DC whose other parallel side is 2 cm and is at a height of 3 

 cm from the DC. Find the area of trapezium EFGH. 

 Hkqtk DC ds nksuksa 'kh"kksaZ ls 1 lseh dh nwjh ij ,d leyac EFGH dh jpuk djsa ftldh 

 nwljh lekukarj Hkqtk 2 lseh gS vkSj DC ls 3 lseh dh ÅapkbZ ij gSA leyac EFGH dk 

 {ks=Qy Kkr dhft,A 

(iii) Construct a square FIJG with the same dimension as the side FG. Find  

 the measure of diagonals FJ and IG. 

 Hkqtk FG ds leku vk;ke okyk ,d oxZ FIJG cuk,a fod.kZ vkSj FJ vkSj IG dk eki 

 Kkr dhft,A 

(iv) Join I and J to the point k situated at a height of 3 cm from the mid-point 

 of the side  

 I vkSj J dks Hkqtk ds e/;&fcanq ls 3 lseh dh ÅapkbZ ij fLFkr fcanq k ls tksM+sA 

(v) Find the measure of kI and kJ. Find the value of IkJ. 

 kI vkSj kJ dk eku Kkr dhft,A IkJ dk eki Kkr dhft,A     

 


